In comparing two otherwise identical industries X and Y, an economist finds that labor demand is more elastic in industry X. Which of the following would support this finding?

A) Substitute resources have a less elastic supply in X than in Y
B) Labor costs as a percentage of total costs are relatively lower in X than in Y
C) Product demand elasticity is higher in X than in Y
D) Capital and labor are less easily substituted for one another in X than in Y

All else equal, rising real wages will:

A) have no impact on average weekly work hours
B) decrease average weekly work hours if the income effect exceeds the substitution effect
C) decrease average weekly work hours if the substitution effect exceeds the income effect
D) increase average weekly work hours if the income effect exceeds the substitution effect

	The slope of an indifference curve at any point reflects the:

A) substitution effect
B) rate at which a person is willing to substitute leisure for income
C) income effect
D) wage rate





Shanita is required by her employer to work a standard eight-hour workday. Suppose her marginal rate of substitution of leisure for income is less than the wage rate at this level of work effort. We can conclude that Shanita will:

A) feel overemployed
B) prefer to work part-time, if such a job is available at the same wage rate
C) probably have a higher than average absenteeism rate
D) feel underemployed

Compared to an otherwise identical competitive firm, a firm with monopoly power will hire:

A) more workers because the higher price charged by the monopoly raises its MRP
B) fewer workers, reflecting its decision to produce less output
C) fewer workers because workers are less productive in a monopoly setting
D) more workers because monopolies have higher profits and can pay higher wages

Sammy is required by her employer to work a standard eight-hour workday. Suppose her marginal rate of substitution of leisure for income exceeds the wage rate at this level of work effort. We can conclude that Sammy will:

A) feel underemployed
B) desire to work voluntary overtime
C) desire to find a second job
D) feel overemployed 

Which of the following circumstances will increase the likelihood of an individual being a non-participant in the labor market?

A) A potential market wage that exceeds the individual’s reservation wage
B) Availability of substantial non-wage income
C) High earnings capacity in the labor market
D) The absence of non-wage income

Which of the following best exemplifies the Becker substitution effect? An increase in the market wage leads a household to:

A) eat more fast-food meals
B) have more children
C) play more golf together
D) take fewer, but longer vacations

Personal differences in demand for human capital curves can be explained by differences in all of the following, except:

A) ability
B) discrimination
C) access to investment funds
D) discount rates

Steven’s reservation wage is $12 and his market wage is $11. We can conclude that:

A) Steven has no nonwage sources of income
B) Steven’s subjective valuation of nonmarket time is less than the value of work
C) Steven’s marginal rate of substitution of leisure for income is less than his reservation wage
D) Steven will be a nonparticipant in the labor market

The substitution effect is:

A) the part of the total change in desired work hours that is due to a change in the wage rate, with real income or utility constant
B) always dominated by the income effect
C) the part of the total change in desired work hours that is due to the change in real income resulting from a change in the wage rate
D) the combination of leisure and wage rate that maximizes one’s income

The total economic cost of formal education typically does not include:

A) earnings foregone by choosing not to enter the labor force
B) expenditures for room and board
C) expenditures for tuition, books, and fees
D) transportation expenses to and from college

The private rate of return on human capital may _____ the social rate because _____.

A) understate; schooling is subsidized
B) understate; schooling provides external benefits
C) overstate; schooling and ability are positively correlated
D) overstate; schooling provides external benefits

Mary’s employer is considering her for a firm-specific training program that will cost $3 per hour. Her current marginal revenue product is $15 per hour and will rise to $20 upon completion of the program. Of the following, Mary’s training and post-training wage, respectively, will most likely be:

A) $12; $15
B) $12; $20
C) $15; $17
D) $15; $20

In Becker’s model of time allocation, the difference between “goods” and “commodities” is that commodities are produced:

A) only with housework
B) by combining goods with time
C) in markets whereas goods are produced in households
D) in the market, whereas goods are produced in the home

If energy and unskilled labor are gross complements, an increase in the price of energy will:

A) either increase or decrease the demand for unskilled labor, depending on the relative strengths of the output effect and the substitution effect
B) decrease the demand for unskilled labor, decreasing the unskilled wage
C) increase the supply of unskilled labor, decreasing the unskilled wage
D) increase the demand for unskilled labor, raising the unskilled wage

A household will tend to substitute goods for time in the production of commodities if:

A) a household member’s market wage increases
B) a household member’s market wage decreases
C) the household’s total income decreases
D) the substitution effect of a wage decrease exceeds the income effect

Suppose that, as a result of a decrease in the market supply of labor, the wage rate has risen 10%. After adjusting its employment level, a firm finds its total wage bill has decreased. This occurrence indicates that the firm’s labor demand: 

A) is elastic over this range of wages
B) is unit elastic over this range of wages
C) was inelastic at the old wage, but is elastic at the new, higher wage
D) is inelastic over this range of wages

The long-run labor demand curve incorporates:

A) both the substitution effect and the output effect
B) the substitution effect only
C) the output effect only
D) neither the substitution effect nor the output effect

Human capital investment consists of:

A) expenditures for on-the-job training only
B) any activity that leads to the substitution of physical capital for labor
C) expenditures for formal schooling only
D) any activity that enhances the quality of labor

A 10% increase in the wage induces Margy to increase her desired work hours by 2%. Over this range of wages, Margy’s wage elasticity of labor supply is:

A) inelastic
B) negative
C) elastic
D) unit elastic

Which of the following best exemplifies the Becker income effect? An increase in the market wage leads a household to:

A) consume fewer time-intensive commodities and more goods-intensive commodities
B) substitute time for goods in the production of commodities
C) consume more commodities
D) have fewer children

Indifference curves are convex to the origin because:

A) at a lower income, a person is less willing to sacrifice income for additional leisure
B) at a lower income, a person is more willing to sacrifice income for additional leisure
C) at any income level, a person is willing to sacrifice the same amount of income for additional leisure
D) the marginal rate of substitution of leisure for income is negative

Which one of the following most closely approximates pure specific training?

A) Majoring in management information systems at a major university
B) Learning a management information system that is unique to your firm
C) Learning tax accounting
D) Learning a widely-used spreadsheet program that is used at your firm

Because of the _____, the unemployment rate as measured by the Bureau of Labor Statistics tends to understate the extent of unemployment during a recession.

A) discouraged-worker effect
B) counter-cyclical labor force participation rate
C) decline in the average workweek
D) added-worker effect

The short run is defined as a period in which:

A) all inputs are variable but technology is fixed
B) the firm cannot change its output level
C) at least one resource is fixed
D) input prices are fixed

From 1980 to the present, the college wage premium:

A) fell for both women and men
B) rose for both women and men
C) rose for men but fell for women
D) rose for women but fell for men

	Age-earnings data show that:

A) differences in earnings by education level disappear for workers age 55 and over
B) men’s earnings increase with educational level but not women’s earnings
C) higher educational levels are consistently associated with higher earnings
D) earnings rise with factors such as family background and personal drive, but not education level





A “supply side” explanation of the lower participation rate of African-American males compared to white males is that:

A) opportunities outside the labor market, such as Social Security and public assistance, afford comparatively more attractive alternatives to African-Americans
B) African-American women’s labor force participation rate is lower than that of white women
C) African-Americans command lower wage rates and are usually last-hired and first-fired
D) African-American workers are located in the inner city while jobs are in the suburbs

Most of the variations in U.S. population growth have resulted from changes in:

A) birthrates and technological change
B) net migration and death rates
C) birthrates and death rates
D) birthrates and net migration

Which of the following best describes the output effect of a wage increase?

A) The firm’s labor demand curve becomes more inelastic, causing it to employ less labor
B) The firm’s marginal cost falls, the firm desires to produce more output, and therefore more labor is required
C) The cost of labor is relatively higher, causing the firm to use relatively less labor
D) The firm's marginal cost increases, the firm desires to produce less output, and therefore less labor is required

Based on standardized test scores for students in the following countries, which has the highest measured schooling quality?

A) Japan
B) U.S.
C) France
D) India

All else equal, the imperfectly competitive seller’s labor demand curve is:

A) less elastic than that of a perfectly competitive seller
B) greater than that of a perfectly competitive seller
C) the same as than that of a perfectly competitive seller
D) more elastic than that of a perfectly competitive seller

When deriving the market demand curve for a particular type of labor, one must:

A) simply sum the labor demand curves of all employers of that type of labor
B) hold the market price of the output constant
C) account for the variation in market price as industry output expands
D) hold constant the market price in competitive markets but allow the price to vary in monopoly markets

A worker who has obtained specific training is:

A) more likely to establish a long-term association with an employer because the worker has made an investment he does not wish to lose
B) neither a. nor b. is correct
C) both a. and b. are correct
D) more likely to establish a long-term association with an employer because the employer has made an investment she does not wish to lose

The Personal Responsibility and Work Opportunity Act of 1996:

A) removed lifetime limits on welfare eligibility
B) with few exceptions, requires welfare recipients to work after two years of receiving assistance
C) moved control over welfare spending from states to the federal government
D) provided immediate welfare benefits to qualified immigrants

The slope of a standard budget constraint reflects:

A) a diminishing marginal rate of substitution of leisure for income
B) a constant marginal rate of substitution of leisure for income
C) an increasing marginal rate of substitution of leisure for income
D) the wage rate 

Assume that skilled labor and energy are substitutes in production. An increase in energy prices is then predicted to:

A) increase the demand for skilled labor if the output effect outweighs the substitution effect
B) unambiguously increase the demand for skilled labor
C) unambiguously decrease the demand for skilled labor
D) decrease the demand for skilled labor if the output effect outweighs the substitution effect

The contingent work force:

A) includes only workers who are involuntarily employed part-time
B) has grown about 4 times as fast as the rest of the work force over the last two decades
C) includes only temporary workers
D) has shrunk relative to the "core" labor force

A union leader told its membership that a wage increase, while resulting in some layoffs, would nonetheless increase the total incomes of its membership. The firm replied that a wage increase would reduce the total incomes of its membership. We can conclude that:

A) both the firm and the union believe that labor demand is elastic, but for different reasons
B) the union believes that labor demand is elastic while the firm believes it to be inelastic
C) both the firm and the union believe that labor demand is inelastic, but for different reasons
D) the union believes that labor demand is inelastic while the firm believes it to be elastic

An earnings-maximizing student would attend college if:

A) the net present value of a college education is zero
B) the internal rate of return on a college education is positive
C) the internal rate of return on a college education exceeds the interest rate on borrowed funds
D) there is an earnings gain associated with a college education

The aggregate labor force participation rate in the U. S. is currently about:

A) three-fourths
B) one-half
C) one-fourth
D) two-thirds

If U represents the number of unemployed persons, E the number of unemployed persons, and N the number in the potential labor force that are neither unemployed nor employed, the labor force participation rate can be found as:

A) (U + E)/(E + N)
B) (U + E)/(U + E + N)
C) U + E
D) E/(U + E)

Compared to workers with less education, people who have more education tend to earn higher wages and have higher pensions upon retirement. Given this observation, which of the following statements best explains why those persons with more education also retire at a later age?

A) Since higher wages and pensions both suggest a lower retirement age, those with more education must value leisure less
B) Regardless of the tastes for leisure, the higher wages and pensions would both suggest a higher retirement age
C) If tastes for leisure are the same, the effect of the higher pension must outweigh the effects of the higher wages
D) If tastes for leisure are the same, the effects of the higher wages must outweigh the effects of the higher pensions 

Charley’s employer is considering him for a general training program that will cost $3 per hour. His current marginal revenue product is $15 per hour and will rise to $20 upon completion of the program. Of the following, Charley’s training and post-training wage, respectively, will most likely be:

A) $15; $17
B) $15; $20
C) $12; $15
D) $12; $20 

Which one of the following statements is correct?

A) The added-worker effect and the discouraged-worker effect operate in the same direction
B) The added-worker effect and the discouraged-worker effect operate in different directions
C) The added-worker effect is relatively strong as the economy expands and wages rise
D) The discouraged-worker effect is relatively strong as the economy expands and wages rise

Skilled labor will benefit from an increase in the wage rate paid to unskilled labor if:

A) the substitution effect outweighs the output effect
B) the output effect and substitution effect work in opposite directions
C) the output effect outweighs the substitution effect
D) skilled labor and unskilled labor are gross complements

Compared to white females, the labor force participation rate of African-American females is _____. Compared to white males the labor force participation rate of African-American males is _____.

A) greater; lower
B) nearly identical; lower
C) nearly identical; nearly identical
D) lower; greater

Suppose that, as a result of an increase in the market supply of labor, the wage rate has fallen 10%. After adjusting its employment levels, a firm finds its total wage bill has decreased. This occurrence indicates that the firm’s labor demand: 

A) is unit elastic over this range of wages
B) is elastic over this range of wages
C) was inelastic at the old wage, but is elastic at the new, lower wage
D) is inelastic over this range of wages

“Expenditures on education and training can be treated as investment in human capital.” This statement is:

A) false—the market for college loans is too imperfect to be consistent with investment models
B) true—education must be financed by borrowing money
C) false—education is purchased for its current (consumption) value, not its future (investment) value
D) true—current expenses are incurred with the expectation they will be more than compensated for by greater future returns

The relatively low labor force participation rate of African-American males may be partly explained by:

A) all of the above
B) the relatively higher participation rate of African-American females
C) lower average wages and job prospects available to African-American males
D) the increased availability of public income maintenance programs

Which of the following best describes the substitution effect of a wage increase?

A) The firm's marginal cost increases, the firm desires to produce less output, and therefore less labor is required
B) The cost of labor is relatively higher, causing the firm to use relatively less labor
C) The firm's labor demand curve becomes less elastic, causing it to employ less labor
D) The firm's labor demand curve becomes more elastic, causing it to employ less labor

Specific training:

A) will be paid for by the employee in the form of a reduced wage
B) reduces the worker’s value to the firm, because the worker’s wage rate would have to rise
C) helps to make labor a quasi-fixed resource
D) occurs once a student majors in a specific subject area

Which one of the following would be most likely to shift the labor supply curve to the right?

A) A change in the indifference map following an improvement in working conditions
B) A significant increase in dividend and interest income
C) A decrease in the wage rate
D) A change in the indifference map following deterioration of working conditions

If a worker’s wage rate rises:

A) household production will shift away from time-intensive commodities towards goods-intensive commodities
B) more leisure time will be consumed if the substitution effect outweighs the income effect
C) household production will shift away from goods-intensive commodities towards time-intensive commodities
D) more leisure time will be consumed

At the optimal amount of education, the internal rate of return on education is:

A) maximized
B) lower than the market rate of interest
C) higher than the market rate of interest
D) equal to the market rate of interest

Which of the following best describes the substitution effect of a wage decrease?

A) The firm's marginal cost decreases, the firm desires to produce less output, and therefore less labor is required
B) The cost of labor is relatively lower, causing the firm to use relatively more labor
C) The firm's labor demand curve becomes more inelastic, causing it to employ less labor
D) The firm's labor demand curve less elastic, causing it to employ less labor

Compared to fifty years ago, the labor force participation rate of 25 – 54 year-old men has _____, the participation rate of 55 – 64 year-old men has _____, and the participation rate of men age 65 and over has _____.

A) been fairly steady; fallen; fallen
B) risen; fallen; been fairly steady
C) risen; been fairly steady; risen
D) fallen; risen; risen 

Consider an individual who will invest a total of $10,000 in direct and indirect costs for training in order to increase earnings by $12,500 for the next year. Suppose the interest rate is 8%. If this person plans to retire the following year, the net present value of this investment is closest to:

A) $2500
B) $1600
C) zero
D) $11,600 

The demand for human capital curves slope downward and to the right because:

A) the benefits of increased education diminish as schooling continues
B) education is a screening device
C) as the interest rate rises, the net present value of education rises
D) investment in education is subject to increasing marginal returns

Approximately what percentage of the U.S. population had completed four or more years of college by the year 2006?

A) 41%
B) 29%
C) 8%
D) 14% 

Which one of the following is not a plausible explanation of the observed change in the participation rate of males age 65 and older since World War II?

A) Growth in the percentage of the labor force covered by private pensions
B) Cutbacks in Social Security benefits
C) The long-term growth of average real incomes and wealth
D) The increased generosity of the disability component of Social Security

The primary indirect cost of going to college is:

A) an enhanced future flow of earnings
B) tuition expenses
C) the value of room and board that would have been provided at home
D) earnings given up by not entering the labor market directly after high school

Value of marginal product (VMP) differs from marginal revenue product (MRP) in that:

A) VMP measures the value society places on the next worker’s output while MRP measures the value the firm places on the next worker’s output
B) MRP measures the value society places on the next worker’s output while VMP measures the value the firm places on the next worker’s output
C) MRP always exceeds VMP
D) VMP always exceeds MRP

The higher the individual’s wage rate:

A) the greater the desired number of hours of work
B) the steeper the budget constraint
C) the lower the marginal rate of substitution of leisure for income
D) the greater the desired number of hours of leisure

Available evidence indicates that:

A) age-earnings profiles vary with age, but not with education
B) differences in earnings between workers who have more education and those who have less education generally widen with age
C) age-earnings profiles of workers with more education tend to be flatter, but higher, than those with less education
D) age-earnings profiles vary with education, but not with age

In the textile industry, industrial robots and assembly line workers are gross substitutes. Accordingly, the drop in the price of robots has:

A) increased assembly line workers’ wages
B) decreased the demand for assembly line workers
C) decreased the demand for robots
D) increased the demand for assembly line workers

Compared to basic work-leisure choice model, Becker’s model of time allocation:

A) assumes that goods and services take no time to consume
B) considers time spent in household work as work time rather than leisure time
C) considers the week rather than the day as the basic unit of time
D) considers the household rather than the individual as the basic decision-making unit

In a particular family, both spouse A and spouse B could earn $20 per hour in market work. However, spouse A has a comparative advantage in the production of home-produced goods. Becker’s model of time allocation predicts that:

A) spouse A will tend to specialize in home production; spouse B in market work
B) spouse A and spouse B will divide market work and home production equally
C) spouse A will tend to specialize in market work; spouse B in home production
D) spouse B will be better able to substitute time for goods in the production of commodities

The convex shape of a standard indifference curve reflects:

A) a constant marginal rate of substitution of leisure for income
B) a diminishing marginal rate of substitution of leisure for income
C) an increasing marginal rate of substitution of leisure for income
D) the wage rate

In comparing two otherwise identical industries X and Y, an economist finds that labor demand is less elastic in industry X. Which of the following would support this finding?

A) Capital and labor are less easily substituted for one another in X than in Y
B) Substitute resources have a more elastic supply in X than in Y
C) Product demand elasticity is higher in X than in Y
D) Labor costs as a percentage of total costs are relatively higher in X than in Y

Cross-sectional data suggest that all else equal:

A) the labor force participation rate of married women varies inversely with the husband’s income
B) the labor force participation rate of single women varies inversely with the reservation wage
C) the labor force participation rate of married men varies inversely with the number of children in the household
D) the male labor force participation rate varies inversely with education

Suppose a working mother is currently ineligible for any government assistance. If she were then to become eligible for an income maintenance program that incorporates both a basic benefit and a positive benefit-reduction rate:

A) her work effort will increase if the substitution effect is stronger than the income effect
B) both the income and substitution effect will cause her to decrease her work effort
C) both the income and substitution effect will cause her to increase her work effort
D) her work effort will decrease if the substitution effect is stronger than the income effect

The optimal work-leisure position is achieved where:

A) the MRS L,Y is greatest
B) the wage rate is greatest
C) the difference between the MRS L,Y and the wage is greatest
D) the MRS L,Y is equal to the wage rate

Which one of the following observations would tend to widen the dispersion of earnings?

A) Banks charge higher interest rates on educational loans to those individuals most likely to face discrimination on the job
B) Human capital investment demand and supply curves are negatively correlated
C) Poor families pay a larger proportion of family income on education than rich families
D) Those with higher ability face higher costs of investment funds

Most rate-of-return studies of education indicate that:

A) private rates of return are about 10% – 15%
B) private rates of return are about 2.5% – 7%
C) private rates of return have held steady over the 1956 – 2008 period
D) social rates of return generally exceed private rates of return

Which of the following can be predicted to increase the demand for labor?

A) A decrease in product demand
B) An increase in the price of another resource, provided the output effect exceeds the substitution effect
C) An increase in the price of a gross substitute for labor
D) An increase in the price of a pure complement to labor

Which of the following best describes the output effect of a wage decrease?

A) The firm's marginal cost increases, the firm desires to produce less output, and therefore less labor is required
B) The firm’s labor demand curve becomes more inelastic, causing it to employ less labor
C) The cost of labor is relatively higher causing the firm to use relatively less labor
D) The firm’s marginal cost falls, the firm desires to produce more output, and therefore more labor is required

An increase in the wage rate will increase desired hours of work if:

A) accompanied by an increase in nonwage income
B) the income effect and substitution effect cancel one another
C) the substitution effect dominates the income effect
D) the income effect dominates the substitution effect

Suppose that the decline in prices of personal computers has reduced the demand for labor at a particular firm. We may conclude that at this firm:

A) computers and labor are perfect substitutes
B) computers and labor are gross substitutes
C) computers and labor are pure complements
D) computers and labor are gross complements but not pure complements

In the context of the basic work-leisure model, “leisure” time includes:

A) any time devoted to anything desirable
B) only time devoted to rest and relaxation
C) any time not devoted to a paying job
D) any time not devoted to either a paying job or household work

“For married women, the substitution effect of rising wage rates has apparently outweighed the income effect.” Empirical evidence suggests this statement is:

A) true because married women have had to work to maintain household living standards
B) not true because the labor force participation rate of women has been increasing
C) true because the labor force participation rate of women has been increasing
D) not true because the labor force participation rate of women has been declining

	Empirical evidence suggests that the:

A) added-worker effect dominates the discouraged-worker effect; the participation rate varies directly with the unemployment rate
B) discouraged-worker effect dominates the added-worker effect; the participation rate varies inversely with the unemployment rate
C) added-worker effect dominates the discouraged-worker effect; the participation rate varies inversely with the unemployment rate
D) discouraged-worker effect dominates the added-worker effect; the participation rate varies directly with the unemployment rate


























